Ringing in the New Year

Two-part Chorus* and Piano with optional Handchimes or Handbells** (2 octaves)

P. W. W., quoting Auld Lang Syne Phyllis Wolfe White
by Robert Burns (1759-1796)
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Bells toll - ing, ring-ing out joy-ful-ly!
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Bells toll - ing, ring-ing out joy-ful-ly!
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Duration: approx. 2:40
*Also available: Three-part Mixed (15/2784H); Performance/Accompaniment CD (99/2771H).
**Part for Handbells/Handchimes is available as a free download.
Visit www.lorenz.com and search 15/2785H.
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*Upper octave may be omitted if instruments are used.
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Ring-ing true_— good will, ring-ing peace all year!
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